1910 CANADA 50 CENT : HOW TO TELL THE DIFFERENCE BETWEEN
AN EDWARDIAN LEAVES REVERSE AND A VICTORIAN LEAVES REVERSE
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- Itis relatively easy to tell the difference between these two varieties on coins where all of the detail
can be seen. However, if you own lower grade coins where the rim is almost completely worn away, this

method is next to impossible to use.

- Here we show a second method using angle of the top leaf, and it is useable with MUCH lower grade

coins (down to approximately G-6):

Figure 1: Edwardian Leaves Reverse

Figure 2: Victorian Leaves Reverse

The traditional method tells you to
compare the distance from the
points on the lower leaf to the
denticles as shown here:

k: With this method, you look at the top
- |leaf, and compare the angles at which |
" the right-side point connects to the

op point.

| With the Edwardian Reverse, the
“| right-side point connects to the top
point at less than a 90 degree angle,
and the intersection is rounded. To
view this close-up and without lines,
look at Figure 1a

With the Victorian Reverse, the
bottom point connects to the top
point at a 90 degree angle, and the
intersection is sharper. To view this
close-up and without lines, look at

| Figure 2a




